Intermediate Algebra Skill

Graphing Parabolas Given the Vertex Form of the Equation

I dentify the vertex, axis of symmetry, and direction of opening of each. Then sketch the graph.

1) x=y?
3) y=2x*
5) x=-y?

1
7) y=—-=x°
)Y >

9) x=-3(y-1)?-6
11) x=-2(y+1)*+1
13) x=2y*-2

15) x=-2(y-2)*+1

17) y=2(x-3)*-3

19) x:%(y—5)2+6

2) y=-2x
4 y=-x*
6) y=x°
8) x=-3y?

10) x=2(y+4)*-2

12) y=—(x+5)*+4

14) y=-x*-2

16) y=—(x+5)?-4

18) x=-2(y+5)*+2

20) x=—(y+1)°-1



Answers to Graphing Parabolas Given the Vertex Form of the Equation

1) 2)
hY Vertex: (0, 0) hY Vertex: (0, 0)
A Axisof Sym.: y=0 A Axisof Sym.: x=0
J Opens: Right J Opens. Down
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8\ y Vertex: (0, 0) g y Vertex: (0, 0)
“ A 1 Axisof Sym.: x=0 A Axisof Sym.: x=0
\ ) I Opens: Up ) Opens: Down
“% % 4 = 4 :( “% % 4 —2/ \ 4 ;
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5) 6)
\Y Vertex: (0, 0) N \Y Vertex: (0, 0)
A Axisof Sym.: y=0 T A 1 Axisof Sym.: x=0
J Opens: Left J Opens. Up
T~
“%5 % 4 - 3 > “% % 4 = 3 i
e
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7) 8)
hY Vertex: (0, 0) hY Vertex: (0, 0)
A Axisof Sym.: x=0 A Axisof Sym.: y=0
J Opens: Down J Opens: Left
*_\\
13 16 14 - 4 X ‘%_:_6"4’ 4 X
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9) 10)
MY Vertex: (—6, 1) MY Vertex: (—2, —4)
A Axisof Sym.:y=1 A Axisof Sym.: y=-4
J Opens: Left J Opens: Right
8 46 44 2 2 4 8 % 8 46 44 2 2 4 8 %
L — 4
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11) 12)

MY Vertex: (1, —1) MY Vertex: (—5, 4)
A Axisof Sym.: y=-1 A Axisof Sym.: x=-5
j Opens: Left j Opens: Down
B /\ B
| i / \ i
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13) 14)
\Y Vertex: (—2, 0) hY Vertex: (0, —2)
A Axisof Sym.: y=0 A Axisof Sym.: x=0
j Opens: Right j Opens: Down
L// 7 4
B b 4 >J—2 2 . T8 42 | 2 4 x
4 4
15) 16)
hY Vertex: (1, 2) hY Vertex: (—5, —4)
B Axisof Sym.: y=2 B Axisof Sym.: x=-5
J Opens: Left J Opens: Down
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17) 18)
A‘y Vertex: (3, —3) AY Vertex: (2, —5)
FT 1 Axisof Sym.: x=3 A Axisof Sym.: y=-5
J \ I Opens: Up J Opens: Left
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19) 20)
hY Vertex: (6, 5) hY Vertex: (—1, —1)
A A1 Axisof Sym.:y=5 A Axisof Sym.: y=-1
J ( Opens: Right J Opens: Left
B \ 4
I
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